
test passed test passed test failed Courant (TO) Année 1 (TO) Année 2 (TO) Année 3 (GO) Année 4 (TO) Année 5 (TO)

Data for full (GB) 1000 10000 100000 132,869              166,422              208,846              262,559              330,658              417,103              

50% 50% 50% 50% 50% 50% 50% 50% 50%

Full size (50%) 500 5000 50000 66434.2517 83211.22546 104423.0093 131279.739 165329.0552 208551.6825

2.5% 2.5% 2.5% 2.5% 2.5% 2.5% 2.5% 2.5% 2.5%

Working space (2.5%) 25 250 2500 3321.712585 4160.561273 5221.150463 6563.986948 8266.452761 10427.58412

Should be (GB) 525 5250 52500 69756 87372 109644 137844 173596 218979

Should be (TB) 0.51 5.13 51.27 68.12 85.32 107.07 134.61 169.53 213.85

Website result ok ok 24.08 28.27 32.37 37.54 44.1 52.41 62.97

difference from 

what it should be 

(TB)

27.19 39.85 52.95 69.53 90.51 117.12 150.88

difference % 

from what it 

should be

47% 41% 38% 35% 33% 31% 29%


